
ITEM NO: I349-412-WST             Queen Panel HB w/ 2 Lamps
                   I349-402-WST             Queen Rails
                   I349-403D-WST          Queen Storage FB

Page 1/7

Thank you for purchasing this quality product. Be sure to check all packing material carefully for
small parts that may come loose inside the carton during shipment.

UNIT SHOULD BE INSTALLED BY 2 OR MORE PERSONS.

All Beds need to be set up in the exact final
location so that after full assembly it will not
need to be moved. Moving the bed will cause
the support legs to move out of perpendicular
(90 degree), weaken the support system, and
may allow the bed to collapse.

aspenhome 
R ASSEMBLY INSTRUCTIONS

MADE IN VIETNAM

ah

BEFORE USING THIS PRODUCT PLEASE READ, UNDERSTAND, AND FOLLOW THESE INSTRUCTIONS.
Save these instructions for future reference.

FOR INDOOR USE ONLY

TOOLS REQUIRED (NOT PROVIDED)
PHILLIPS SCREWDRIVER

I349-403D
I349-402

I349-412

Swing Lamp

Assembly instructions for the Swing Lamps
are in the Lamp package.  Follow the below
instructions when attaching the swing lamps
to this headboard.

06-06-2022



 HARDWARE  LIST: I349-412

5 PCS

1 PC

No.
A
B
C
D
E

Description Sketch Quantity

 Lock Washer  Ø5/16"
 Flat Washer  Ø5/16" x 3/4"
 Allen Wrench 4mm

6 PCS

 HARDWARE  LIST: I349-402

8 PCS
No.
F
G
H

Description Sketch Quantity

 Hex Nut  Ø5/16"
 Hex Wrench  12mm

8 PCS

1 PC
I

 Wood Screw  #4 x 1-1/4"

8 PCS

 COMPONENTS LIST: I349-412

1 PC

No.
1
2
3
4
5

Description Sketch Quantity
 Headboard
 Left Leg
 Right Leg
 Wood Stretcher
 Center Support Leg

1 PC
1 PC
1 PC
1 PC

 COMPONENTS LIST: I349-402
No.
1
2

Description Sketch Quantity
 Bed rails
 Slats 4 PCS

2 PCS Half Moon Washer Ø5/16"

J
K

 Lock Washer  Ø5/16" 8 PCS

L
M

 HARDWARE  LIST: I349-403D
No.

O
P

Description Sketch Quantity

 Allen Wrench  4mm 1 PC

 8 PCS

 Wood Screw  #4 x 1"

 Lock Washer  Ø1/4"
 Flat Washer  Ø1/4" x 3/4"  8 PCS

 8 PCS

 COMPONENTS LIST: I349-403D
No.
1
2

Description Sketch Quantity

3
1 PC

 Footboard
 Support Leg (for center rail)
 Decking
 Center rail

1 PC
2 PCS
4 PCS

4

6  Lamp 2 Sets

N

 8 PCS

8 PCS

STEP 1: Lay the headboard face down on a soft surface. Attach the left leg and
right leg to headboard by using 6 bolts(B), lock washers(C) and flat washers(D).
Do not completely tighten bolts.

HB Backside

 Left Leg

 Right Leg

B
C
D

E

 Bolt Ø5/16" x 1-3/4"(18)
 Bolt Ø5/16" x 2"(18)

 Bolt  Ø1/4" x 1-3/8"(20)

 Hanger Bolt Ø5/16"x3-1/8"(18)

Page 2/7

aspenhome 
R ASSEMBLY INSTRUCTIONS

MADE IN VIETNAM

ah

ITEM NO: I349-412-WST             Queen Panel HB w/ 2 Lamps
                   I349-402-WST             Queen Rails
                   I349-403D-WST          Queen Storage FB

11 PCS
11 PCS

5  Support Leg (for footboard) 3 PCS

09-20-2022



Page 3/7

aspenhome 
R ASSEMBLY INSTRUCTIONS

MADE IN VIETNAM

ah

STEP 3: Attach the center support leg to headboard and wood stretcher by using 3 bolts(A),
lock washers(C) and flat washers(D).

STEP 2: Attach the wood stretcher to the legs by using 2 bolts(A), lock washers(C)
and flat washers(D). Completely tighten all bolts.

 Wood Stretcher

A
CD

E

A
C
D

E

ITEM NO: I349-412-WST             Queen Panel HB w/ 2 Lamps
                   I349-402-WST             Queen Rails
                   I349-403D-WST          Queen Storage FB

STEP 4: Put the footboard face down on a soft surface. Attach the support legs (for
footboard) to the footboard as shown below.

Support Leg
(for footboard)

09-20-2022



 Headboard

Slat bearer

Side Rail

F

H I J

Make sure the slat bearer is
in the UPPER position.

G

STEP 7: Attach 2 support legs (for center rail) to the
center rail using 4 bolts(L), lock washers(M) and flat
washers(N). Use the Allen Wrench(O) to tighten all
of the bolts.

Leveler

Center Rail

Support Leg
(for center rail)

STEP 6: Attach the center rail to the footboard and center support leg of headboard using 4
bolts(L), lock washers(M) and flat washers(N).

O
N

 Center rail

M

 Center rail

STEP 5: Screw the bolts(F) into HB & FB. Make sure the slat bearer is in the UPPER position.
Align the bolts with the holes in the end of side rails and attach the side rails to HB & FB using
half moon Washers(G), Lock Washers(H) and hex nuts (I).Then use a hex wrench to tighten all
the nuts.

L

O
NML

Page 4/7

aspenhome 
R ASSEMBLY INSTRUCTIONS

MADE IN VIETNAM

ah

ITEM NO: I349-412-WST             Queen Panel HB w/ 2 Lamps
                   I349-402-WST             Queen Rails
                   I349-403D-WST          Queen Storage FB

09-16-2022



Wood Screws (K)

STEP 8: Arrange slats on the slat bearers and then lay the decking on top of the slats. Make sure
the top and bottom slats are situated underneath the pre-drilled holes as shown below in STEP 9.
Remove the decking and attach slats to the slat bearers with wood screws (K).

STEP 9: Put the decking over the slats, secure decking to the slats with wood screws (P)
through the pre-drilled holes in the decking as shown below.

P
Decking

Pre-drilled hole

Make sure that there is a slat
under the pre-drilled hole.

Slat

Decking

Decking

The slat should support
both pieces of decking.

Page 5/7

aspenhome 
R ASSEMBLY INSTRUCTIONS

MADE IN VIETNAM

ah

ITEM NO: I349-412-WST             Queen Panel HB w/ 2 Lamps
                   I349-402-WST             Queen Rails
                   I349-403D-WST          Queen Storage FB

09-16-2022



Page 6/7

aspenhome 
R ASSEMBLY INSTRUCTIONS

MADE IN VIETNAM

ah

ITEM NO: I349-412-WST             Queen Panel HB w/ 2 Lamps
                   I349-402-WST             Queen Rails
                   I349-403D-WST          Queen Storage FB

STEP 1: Attach each of the swing lamp ("1" on the component list for swing lamp)
to the back of the headboard with 4 flat head wood screws ("A" on the hardware bag
for swing lamp) as shown below.
STEP 2: Attach each of the control box w/wires ("2" on the component list for
swing lamp) to the back of haeadboard with 4 pan head wood screws ("B" on the
hardware bag for swing lamp) as shown below.
STEP 3: Plug the male connectors into the female
connectors as shown below.

Swing Lamp

"A"

Control Box w/Wires

"B"

Female Connector
Male Connector

FOR SWING LAMP ASSEMBLY:

STEP 4:  Unscrew the pre-installed male bolt and female bolt in
each of the headboard post by an allen wrench. Insert each of the
flat washer firstly and the brass ring secondly to the bolt male,
press each bolt female/touch switch by finger into the hole on
headboard post, then completely tighten the 2 male bolts.

Female Bolt/Touch Switch

Brass Ring

Male Bolt

Headboard Post

Swing Lamp

Flat Wahser

Plug

06-06-2022



Page 7/7

aspenhome 
R ASSEMBLY INSTRUCTIONS

MADE IN VIETNAM

ah

ITEM NO: I349-412-WST             Queen Panel HB w/ 2 Lamps
                   I349-402-WST             Queen Rails
                   I349-403D-WST          Queen Storage FB

FUNCTIONALITY INSTRUCTION

I349-403DCedar-lined
Storage Drawers

I349-412

I349-402

Push the touch switch to
turn on/off or adjust the
lighting on both sides.

"D"

Swingable Metal Arm

Small Bolt

STEP 5: Insert the plugs to the socket, lift (do not push or drag)
the bed assembly to the desired location and rotate the swing
lamps to the desired angle.
Note: adjust the small bolts using the allen wrench ("D" on the
hardware bag for swing lamp) as shown right when the swingable
metal arm is too loose / tight.

ScrewHandle Handle

09-16-2022

Reverse each handle by removing the screws
while each drawer is open and attach all handles
to the front of the drawers with screws as shown.



aspenhome 
R ASSEMBLY INSTRUCTIONS

MADE IN VIETNAM

ah

ITEM NO: I349-412-WST             Queen Panel HB w/ 2 Lamps
                   I349-402-WST             Queen Rails
                   I349-403-WST             Queen Low Profile FB

Page 1/7

Thank you for purchasing this quality product. Be sure to check all packing material carefully for
small parts that may come loose inside the carton during shipment.

UNIT SHOULD BE INSTALLED BY 2 OR MORE PERSONS.

All Beds need to be set up in the exact final
location so that after full assembly it will not
need to be moved. Moving the bed will cause
the support legs to move out of perpendicular
(90 degree), weaken the support system, and
may allow the bed to collapse.

BEFORE USING THIS PRODUCT PLEASE READ, UNDERSTAND, AND FOLLOW THESE INSTRUCTIONS.
Save these instructions for future reference.

FOR INDOOR USE ONLY

TOOLS REQUIRED (NOT PROVIDED)
PHILLIPS SCREWDRIVER

I349-403
I349-402

I349-412

I349-403
I349-402

I349-412

Option 1

Option 2

Swing Lamp

Assembly instructions for the Swing Lamps
are in the Lamp package.  Follow the below
instructions when attaching the swing lamps
to this headboard.

04-25-2022



 HARDWARE  LIST: I349-412

5 PCS

1 PC

No.
A
B
C
D
E

Description Sketch Quantity
 Bolt Ø5/16" x 1-3/4"(18)
 Bolt Ø5/16" x 2"(18)
 Lock Washer  Ø5/16"
 Flat Washer  Ø5/16" x 3/4"
 Allen Wrench 4mm

6 PCS
11 PCS

 HARDWARE  LIST: I349-402

8 PCS
No.
F
G
H

Description Sketch Quantity

 Hex Nut  Ø5/16"
 Hex Wrench  12mm

8 PCS

1 PC
I

 Wood Screw  #4 x 1-1/4"

8 PCS

 COMPONENTS LIST: I349-412

1 PC

No.
1
2
3
4
5

Description Sketch Quantity
 Headboard
 Left Leg
 Right Leg
 Wood Stretcher
 Center Support Leg

1 PC
1 PC
1 PC
1 PC

 COMPONENTS LIST: I349-402
No.
1
2

Description Sketch Quantity
 Bed rails
 Slats 4 PCS

2 PCS Half Moon Washer Ø5/16"

11 PCS

J
K

 Lock Washer  Ø5/16" 8 PCS

6 Swing Lamp 2 Sets

8 PCS

 COMPONENTS LIST: I349-403
No.
1
2

Description Sketch Quantity
 Footboard 1 PC
 Support Leg 4 Set

aspenhome 
R ASSEMBLY INSTRUCTIONS

MADE IN VIETNAM

ah

STEP 2: Attach the wood stretcher to the legs by using 2 bolts(A), lock washers(C)
and flat washers(D). Completely tighten all bolts.

STEP 1: Lay the headboard face down on a soft surface. Attach the left leg and
right leg to headboard by using 6 bolts(B), lock washers(C) and flat washers(D).
Do not completely tighten bolts.

HB Backside

 Left Leg

 Right Leg

B
C
D

E

 Wood Stretcher

A
CD

E

ITEM NO: I349-412-WST             Queen Panel HB w/ 2 Lamps
                   I349-402-WST             Queen Rails
                   I349-403-WST             Queen Low Profile FB

 Hanger Bolt Ø5/16"x3-1/8"(18)

Page 2/7 09-20-2022



STEP 3: Attach the center support leg to headboard and wood stretcher by using 3 bolts(A),
lock washers(C) and flat washers(D).

A
C
D

E

aspenhome 
R ASSEMBLY INSTRUCTIONS

MADE IN VIETNAM

ah

ITEM NO: I349-412-WST             Queen Panel HB w/ 2 Lamps
                   I349-402-WST             Queen Rails
                   I349-403-WST             Queen Low Profile FB

FOR OPTION 1:
STEP 4: Screw the bolts(F) into HB & FB. Make sure the slat bearer is in the position (b).
Align the bolts with the holes in the end of side rails and attach the side rails to HB & FB
using half moon Washers(G), Lock Washers(H) and hex nuts (I).Then use a hex wrench to
tighten all the nuts.

Headboard

Slat bearer

Side Rail

F

H I J
G

Make sure the slat bearer
is in the position (b).

Position a

Position b

Page 3/7 09-20-2022



aspenhome 
R ASSEMBLY INSTRUCTIONS

MADE IN VIETNAM

ah

ITEM NO: I349-412-WST             Queen Panel HB w/ 2 Lamps
                   I349-402-WST             Queen Rails
                   I349-403-WST             Queen Low Profile FB

STEP 5: Attach the support legs with leveler to the slats.
Adjust the levelers on bottom of support legs when necessary.

Support Leg

Leveler

This End Up

Slat

STEP 6: Arrange the slats on the slat bearers equally and
attach to the slat bearers with wood screws (K).

Wood Screws (K)

FOR OPTION 2:

STEP 4: The slat bearers have been attached in position (b) approximately 2” from the top of the side
rails for use with a storage footboard. The slat bearers must be moved into position (a) based on
this bed configuration. Remove the bolts from the slat bearers and side rails as shown below. Then
re-attach the slat bearers to the side rails in desired position (a) with bolts, lock washers, flat
washers. Caution: Do not over tighten bolts as this may loosen the threaded inserts in the
side rails.

Page 4/7 09-22-2022

b

a



 Headboard

Slat bearer

Side Rail
F

H I J
G

STEP 6: Remove the support legs (top) as shown in the picture
to the right. Attach the support legs with leveler to the slats.
Adjust the levelers on bottom of support legs when necessary.

Support Leg

Leveler

This End Up

Slat

Remove
Support Leg(top)

STEP 5: Screw the bolts(F) into HB & FB. Make sure the slat bearer is in the position (a).
Align the bolts with the holes in the end of side rails and attach the side rails to HB & FB
using half moon Washers(G), Lock Washers(H) and hex nuts (I).Then use a hex wrench to
tighten all the nuts.

Make sure the slat bearer
is in the position (a).

Position a

Position b

STEP 7: Arrange the slats on the slat bearers
equally and attach to the slat bearers with
wood screws (K).

Wood Screws (K)

aspenhome 
R ASSEMBLY INSTRUCTIONS

MADE IN VIETNAM

ah

ITEM NO: I349-412-WST             Queen Panel HB w/ 2 Lamps
                   I349-402-WST             Queen Rails
                   I349-403-WST             Queen Low Profile FB

Page 5/7 04-25-2022



aspenhome 
R ASSEMBLY INSTRUCTIONS

MADE IN VIETNAM

ah

ITEM NO: I349-412-WST             Queen Panel HB w/ 2 Lamps
                   I349-402-WST             Queen Rails
                   I349-403-WST             Queen Low Profile FB

STEP 4:  Unscrew the pre-installed male bolt and female
bolt in each of the headboard post by an allen wrench. Insert
each of the flat washer firstly and the brass ring secondly to
the bolt male, press each bolt female/touch switch by finger
into the hole on headboard post, then completely tighten the
2 male bolts.

Female Bolt/Touch Switch

Brass Ring

Male Bolt

Headboard Post

Page 6/7

Swing Lamp

STEP 1: Attach each of the swing lamp ("1" on the component list for swing lamp)
to the back of the headboard with 4 flat head wood screws ("A" on the hardware bag
for swing lamp) as shown below.
STEP 2: Attach each of the control box w/wires ("2" on the component list for
swing lamp) to the back of haeadboard with 4 pan head wood screws ("B" on the
hardware bag for swing lamp) as shown below.
STEP 3: Plug the male connectors into the female
connectors as shown below.

Swing Lamp

"A"

Control Box w/Wires

"B"

Female Connector
Male Connector

FOR SWING LAMP ASSEMBLY:

Flat Wahser

Plug

06-06-2022



I349-403

I349-412

I349-402

aspenhome 
R ASSEMBLY INSTRUCTIONS

MADE IN VIETNAM

ah

ITEM NO: I349-412-WST             Queen Panel HB w/ 2 Lamps
                   I349-402-WST             Queen Rails
                   I349-403-WST             Queen Low Profile FB

FUNCTIONALITY INSTRUCTION

Push the touch switches to
turn on/off or adjust the
lighting on both sides.

I349-403

I349-402

Page 7/7

OPTION 1:

OPTION 2:

Push the touch switches to
turn on/off or adjust the
lighting on both sides.

STEP 5: Insert the plugs to the socket, lift (do not push or drag)
the bed assembly to the desired location and rotate the swing
lamps to the desired angle.

I349-412

04-25-2022

Note: adjust the small bolts using the allen wrench ("D" on the
hardware bag for swing lamp) as shown right when the swingable
metal arm is too loose / tight. "D"

Swingable Metal Arm

Small Bolt



Page 1/7

ITEM NO: I349-415-WST             King Panel HB w/ 2 Lamps
                   I349-407-WST             King Low Profile FB
                   I349-406-WST             King Rails
                   I349-410-WST             Cal King Rails
Thank you for purchasing this quality product. Be sure to check all packing material carefully for
small parts that may come loose inside the carton during shipment.

UNIT SHOULD BE INSTALLED BY 2 OR MORE PERSONS.

aspenhome 
R ASSEMBLY INSTRUCTIONS

MADE IN VIETNAM

ah

BEFORE USING THIS PRODUCT PLEASE READ, UNDERSTAND, AND FOLLOW THESE INSTRUCTIONS.
Save these instructions for future reference.

FOR INDOOR USE ONLY

All Beds need to be set up in the exact final
location so that after full assembly it will not
need to be moved. Moving the bed will cause
the support legs to move out of perpendicular
(90 degree), weaken the support system, and
may allow the bed to collapse.

TOOLS REQUIRED (NOT PROVIDED)
PHILLIPS SCREWDRIVER

I349-407

I349-406

I349-415

I349-410

I349-407

I349-406

I349-415

I349-410

Option 1

Option 2

Swing Lamp

Assembly instructions for the Swing Lamps
are in the Lamp package.  Follow the below
instructions when attaching the swing lamps
to this headboard.

04-25-2022



 HARDWARE  LIST: I349-415

5 PCS

1 PC

No.
A
B
C
D
E

Description Sketch Quantity

 Lock Washer  Ø5/16"
 Flat Washer  Ø5/16" x 3/4"
 Allen Wrench 4mm

6 PCS
11 PCS

F

 COMPONENTS LIST: I349-415

1 PC

No.
1
2
3
4
5

Description Sketch Quantity
 Headboard
 Left Leg
 Right Leg
 Wood Stretcher
 Center Support Leg

1 PC
1 PC
1 PC
1 PC

 COMPONENTS LIST: I349-406
No.
1
2

Description Sketch Quantity
 Bed rails
 Slats 5 PCS

2 PCS

11 PCS

 COMPONENTS LIST: I349-410
No.
1
2

Description Sketch Quantity
 Bed rails
 Slats 5 PCS

2 PCS

3 Center rail (Long) 1 PC

6  Lamp 2 Sets HARDWARE  LIST: I349-406/410

8 PCS
No.

G
H

Description Sketch Quantity

 Hex Nut  Ø5/16"
 Hex Wrench  12mm

8 PCS

1 PC
I

 Wood Screw  #4 x 1-1/4" 10 PCS

8 PCS

 Half Moon Washer Ø5/16"

J
K

 Lock Washer  Ø5/16" 8 PCS

L  Wood Cap (only for 410) 8 PCS

 COMPONENTS LIST: I349-407
No.
1
2

Description Sketch Quantity
 Footboard 1 PC
 Support Leg 5 Set

 Bolt Ø15/16" x 1-3/4"(18)
 Bolt Ø5/16" x 2"(18)

Page 2/7

aspenhome 
R ASSEMBLY INSTRUCTIONS

MADE IN VIETNAM

ah

STEP 1: Lay the headboard face down on a soft surface. Attach the left leg and
right leg to headboard by using 6 bolts(B), lock washers(C) and flat washers(D).
Do not completely tighten bolts.

HB Backside

 Left Leg

 Right Leg

B
C
D

E

ITEM NO: I349-415-WST             King Panel HB w/ 2 Lamps
                   I349-407-WST             King Low Profile FB
                   I349-406-WST             King Rails
                   I349-410-WST             Cal King Rails

 Hanger Bolt Ø5/16"x3-1/8"(18)

09-20-2022



Page 3/7

aspenhome 
R ASSEMBLY INSTRUCTIONS

MADE IN VIETNAM

ah

STEP 3: Attach the center support leg to headboard and wood stretcher by using 3 bolts(A),
lock washers(C) and flat washers(D).

STEP 2: Attach the wood stretcher to the legs by using 2 bolts(A), lock washers(C)
and flat washers(D). Completely tighten all bolts.

A
CD

E

A
C
D

E

The outside holes match to 6/6 standard king rails,
the inside holes match to 6/0 Cal king bed rails.

 Headboard

Slat bearer

Side Rail

F

H I J
G

ITEM NO: I349-415-WST             King Panel HB w/ 2 Lamps
                   I349-407-WST             King Low Profile FB
                   I349-406-WST             King Rails
                   I349-410-WST             Cal King Rails

FOR OPTION 1:

STEP 4: Screw the bolts(F) into HB & FB. Make sure the slat bearer is in the position (b).
Align the bolts with the holes in the end of side rails and attach the side rails to HB & FB
using half moon Washers(G), Lock Washers(H) and hex nuts (I).Then use a hex wrench to
tighten all the nuts.

Make sure the slat bearer
is in the position (b).

Position a

Position b

09-20-2022



STEP 5: Attach the support legs with leveler to the slats.
Adjust the levelers on bottom of support legs when necessary.

Support Leg

Leveler

This End Up

Slat

Wood Screws (K)

STEP 6: Arrange the slats on the slat bearers equally and
attach to the slat bearers with wood screws (K).

aspenhome 
R ASSEMBLY INSTRUCTIONS

MADE IN VIETNAM

ah

ITEM NO: I349-415-WST             King Panel HB w/ 2 Lamps
                   I349-407-WST             King Low Profile FB
                   I349-406-WST             King Rails
                   I349-410-WST             Cal King Rails

Page 4/7

FOR OPTION 2:

b

a

STEP 7: For Cal King bed, insert wood caps into the holes on
headboard and footboard. For regular King bed, skip this step.

Wood Cap (L)

09-22-2022

STEP 4: The slat bearers have been attached in position (b) approximately 2” from the top of the side
rails for use with a storage footboard. The slat bearers must be moved into position (a) based on
this bed configuration. Remove the bolts from the slat bearers and side rails as shown below. Then
re-attach the slat bearers to the side rails in desired position (a) with bolts, lock washers, flat
washers. Caution: Do not over tighten bolts as this may loosen the threaded inserts in the
side rails.



The outside holes match to 6/6 standard king rails,
the inside holes match to 6/0 Cal king bed rails.

 Headboard

Slat bearer

Side Rail
F

H I J
G

STEP 6: Remove the support legs (top) as shown in the picture
to the right. Attach the support legs with leveler to the slats.
Adjust the levelers on bottom of support legs when necessary.

Support Leg

Leveler

This End Up

Slat

Remove
Support Leg(top)

STEP 5: Screw the bolts(F) into HB & FB. Make sure the slat bearer is in the position (a).
Align the bolts with the holes in the end of side rails and attach the side rails to HB & FB
using half moon Washers(G), Lock Washers(H) and hex nuts (I).Then use a hex wrench to
tighten all the nuts.

Make sure the slat bearer
is in the position (a).

Position a

Position b

aspenhome 
R ASSEMBLY INSTRUCTIONS

MADE IN VIETNAM

ah

ITEM NO: I349-415-WST             King Panel HB w/ 2 Lamps
                   I349-407-WST             King Low Profile FB
                   I349-406-WST             King Rails
                   I349-410-WST             Cal King Rails

Page 5/7

Wood Screws (K)

STEP 7: Arrange the slats on the slat bearers equally and
attach to the slat bearers with wood screws (K).

STEP 8: For Cal King bed, insert wood caps into the holes on
headboard and footboard. For regular King bed, skip this step.

Wood Cap (L)

04-25-2022



aspenhome 
R ASSEMBLY INSTRUCTIONS

MADE IN VIETNAM

ah

ITEM NO: I349-415-WST             King Panel HB w/ 2 Lamps
                   I349-407-WST             King Low Profile FB
                   I349-406-WST             King Rails
                   I349-410-WST             Cal King Rails

Page 6/7

STEP 4:  Unscrew the pre-installed male bolt and female
bolt in each of the headboard post by an allen wrench. Insert
each of the flat washer firstly and the brass ring secondly to
the bolt male, press each bolt female/touch switch by finger
into the hole on headboard post, then completely tighten the
2 male bolts.

STEP 1: Attach each of the swing lamp ("1" on the component list for swing lamp) to the back of the
headboard with 4 flat head wood screws ("A" on the hardware bag for swing lamp) as shown below.
STEP 2: Attach each of the control box w/wires ("2" on the component list for
swing lamp) to the back of haeadboard with 4 pan head wood screws ("B" on the
hardware bag for swing lamp) as shown below.
STEP 3: Plug the male connectors into the female
connectors as shown below.

FOR SWING LAMP ASSEMBLY:

Lamp

Swing Lamp

"A"

Control Box w/Wires

"B"

Female Connector
Male Connector

Plug

Female Bolt/Touch Switch

Brass Ring

Male Bolt

Headboard Post

Flat Wahser

06-06-2022



aspenhome 
R ASSEMBLY INSTRUCTIONS

MADE IN VIETNAM

ah

ITEM NO: I349-415-WST             King Panel HB w/ 2 Lamps
                   I349-407-WST             King Low Profile FB
                   I349-406-WST             King Rails
                   I349-410-WST             Cal King Rails

Page 7/7

FUNCTIONALITY INSTRUCTION I349-415

I349-407

I349-406
I349-415

I349-407
I349-410

Push the touch switch to
turn on/off or adjust the
lighting on both sides.

OPTION 1:

Push the touch switch to
turn on/off or adjust the
lighting on both sides.

I349-407
I349-410

I349-407

I349-406
I349-415

I349-415

OPTION 2:

"D"

Swingable Metal Arm

Small Bolt

04-25-2022

STEP 5: Insert the plugs to the socket, lift (do not push or drag)
the bed assembly to the desired location and rotate the swing
lamps to the desired angle.
Note: adjust the small bolts using the allen wrench ("D" on the
hardware bag for swing lamp) as shown right when the swingable
metal arm is too loose / tight.



Page 1/7

ITEM NO: I349-415-WST             King Panel HB w/ 2 Lamps
                   I349-407D-WST          King Storage FB
                   I349-406-WST             King Rails
                   I349-410-WST             Cal King Rails
Thank you for purchasing this quality product. Be sure to check all packing material carefully for
small parts that may come loose inside the carton during shipment.

UNIT SHOULD BE INSTALLED BY 2 OR MORE PERSONS.

All Beds need to be set up in the exact final
location so that after full assembly it will not
need to be moved. Moving the bed will cause
the support legs to move out of perpendicular
(90 degree), weaken the support system, and
may allow the bed to collapse.

aspenhome 
R ASSEMBLY INSTRUCTIONS

MADE IN VIETNAM

ah

BEFORE USING THIS PRODUCT PLEASE READ, UNDERSTAND, AND FOLLOW THESE INSTRUCTIONS.
Save these instructions for future reference.

FOR INDOOR USE ONLY

TOOLS REQUIRED (NOT PROVIDED)
PHILLIPS SCREWDRIVER

I349-407D
I349-406

I349-415

I349-410
Swing Lamp

Assembly instructions for the Swing Lamps
are in the Lamp package.  Follow the below
instructions when attaching the swing lamps
to this headboard.

06-06-2022



 HARDWARE  LIST: I349-415

5 PCS

1 PC

No.
A
B
C
D
E

Description Sketch Quantity

 Lock Washer  Ø5/16"
 Flat Washer  Ø5/16" x 3/4"
 Allen Wrench 4mm

6 PCS

 HARDWARE  LIST: I349-406/410

8 PCS
No.
F
G
H

Description Sketch Quantity

 Hex Nut  Ø5/16"
 Hex Wrench  12mm

8 PCS

1 PC
I

 Wood Screw  #4 x 1-1/4" 10 PCS

8 PCS

 COMPONENTS LIST: I349-415

1 PC

No.
1
2
3
4
5

Description Sketch Quantity
 Headboard
 Left Leg
 Right Leg
 Wood Stretcher
 Center Support Leg

1 PC
1 PC
1 PC
1 PC

 COMPONENTS LIST: I349-406
No.
1
2

Description Sketch Quantity
 Bed rails
 Slats 5 PCS

2 PCS Half Moon Washer Ø5/16"

J
K

 Lock Washer  Ø5/16" 8 PCS

L  Wood Cap (only for 410) 8 PCS

M

STEP 1: Lay the headboard face down on a soft surface. Attach the left leg and
right leg to headboard by using 6 bolts(B), lock washers(C) and flat washers(D).
Do not completely tighten bolts.

HB Backside

 Left Leg

 Right Leg

B
C
D

E

 HARDWARE  LIST: I349-407D
No.

O
P

Description Sketch Quantity

 Allen Wrench  4mm 1 PC
 10 PCSQ

 8 PCS Bolt  Ø1/4" x 1-3/8"(20)

 Wood Screw  #4 x 1"

 Lock Washer  Ø1/4"
 Flat Washer  Ø1/4" x 3/4"  8 PCS

 8 PCS

 COMPONENTS LIST: I349-410
No.
1
2

Description Sketch Quantity
 Bed rails
 Slats 5 PCS

2 PCS

3 Center rail (Long) 1 PC

 COMPONENTS LIST: I349-407D
No.
1
2

Description Sketch Quantity

3
1 PC

 Footboard
 Support Leg (for center rail)
 Decking
 Center rail (Short)

1 PC
2 PCS
3 PCS

Filler 2 PCS
4
5

6  Lamp 2 Sets

N

 Bolt Ø5/16" x 1-3/4"(18)
 Bolt Ø5/16" x 2"(18)

 Hanger Bolt Ø5/16"x3-1/8"(18)

aspenhome 
R ASSEMBLY INSTRUCTIONS

MADE IN VIETNAM

ah

ITEM NO: I349-415-WST             King Panel HB w/ 2 Lamps
                   I349-407D-WST          King Storage FB
                   I349-406-WST             King Rails
                   I349-410-WST             Cal King Rails

Page 2/7

11 PCS

6  Support Leg (for footboard) 3 PCS

09-20-2022

11 PCS



Page 3/7

aspenhome 
R ASSEMBLY INSTRUCTIONS

MADE IN VIETNAM

ah

STEP 3: Attach the center support leg to headboard and wood stretcher by using 3 bolts(A),
lock washers(C) and flat washers(D).

STEP 2: Attach the wood stretcher to the legs by using 2 bolts(A), lock washers(C)
and flat washers(D). Completely tighten all bolts.

A
CD

E

A
C
D

E

ITEM NO: I349-415-WST             King Panel HB w/ 2 Lamps
                   I349-407D-WST          King Storage FB
                   I349-406-WST             King Rails
                   I349-410-WST             Cal King Rails

STEP 4: Put the footboard face down on a soft surface. Attach the support legs (for
footboard) to the footboard as shown below.

Support Leg
(for footboard)

09-20-2022



STEP 7: Attach 2 support legs (for center rail) to the
center rail using 4 bolts(M), lock washers(N) and flat
washers(O). Use the Allen Wrench(P) to tighten all
of the bolts. Leveler

Center Rail

Support Leg
(for center rail)

STEP 6: The standard king center rail(short) is in the Storage Footboard carton, and the Cal king
center rail (long) is in the Cal King side rail carton. Attach the appropriate center rail to the
footboard and center support leg of headboard using 4 bolts(M), lock washers(N) and flat
washers(O).

 Center rail

O
P N

 Center rail

M

O
P NM

Page 4/7

aspenhome 
R ASSEMBLY INSTRUCTIONS

MADE IN VIETNAM

ah

ITEM NO: I349-415-WST             King Panel HB w/ 2 Lamps
                   I349-407D-WST          King Storage FB
                   I349-406-WST             King Rails
                   I349-410-WST             Cal King Rails

STEP 5: Screw the bolts(F) into HB & FB. Make sure the slat bearer is in the UPPER position.
Align the bolts with the holes in the end of side rails and attach the side rails to HB & FB using
half moon Washers(G), Lock Washers(H) and hex nuts (I).Then use a hex wrench to tighten all
the nuts.

The outside holes match to 6/6 standard king rails,
the inside holes match to 6/0 Cal king bed rails.

 Headboard

Slat bearer

Side Rail

F

H I J

Make sure the slat bearer is
in the UPPER position.

G

09-16-2022



Wood Screws (K)

STEP 8: Arrange slats on the slat bearers and then lay the decking on top of the slats. Make sure
the top and bottom slats are situated underneath the pre-drilled holes as shown below in STEP 10.
Remove the decking and attach slats to the slat bearers with wood screws (K).

STEP 10: Put the deckings and fillers over the slats, secure
deckings to the slats with wood screws (Q) through the
pre-drilled holes in the deckings as shown below.

Make sure that there
is a slat under the
pre-drilled hole.

Q
Decking

Pre-drilled hole

Cal King Bed

Standard King Bed

Decking

Decking

Decking

Decking
Decking

Decking

aspenhome 
R ASSEMBLY INSTRUCTIONS

MADE IN VIETNAM

ah

Page 5/7

ITEM NO: I349-415-WST             King Panel HB w/ 2 Lamps
                   I349-407D-WST          King Storage FB
                   I349-406-WST             King Rails
                   I349-410-WST             Cal King Rails

Filler
Notch

STEP 9: For the Cal King bed, both filer boards are notched.
Using a utility knife only cut off the small piece at the notch on
one of the filler boards. This cut off filler board will be placed
at the foot of the bed going from left to right as shown on the
right side below in STEP 10. For the standard King bed, skip
this step and arrange the decking boards as shown below.

09-16-2022



Page 6/7

aspenhome 
R ASSEMBLY INSTRUCTIONS

MADE IN VIETNAM

ah

ITEM NO: I349-415-WST             King Panel HB w/ 2 Lamps
                   I349-407D-WST          King Storage FB
                   I349-406-WST             King Rails
                   I349-410-WST             Cal King Rails

STEP 11: For Cal King bed, insert wood caps into the holes on
headboard and footboard. For regular King bed, skip this step.

Wood Cap (L)

STEP 4:  Unscrew the pre-installed male bolt and female bolt in
each of the headboard post by an allen wrench. Insert each of the
flat washer firstly and the brass ring secondly to the bolt male,
press each bolt female/touch switch by finger into the hole on
headboard post, then completely tighten the 2 male bolts.

Female Bolt/Touch Switch

Brass Ring

Male Bolt

Headboard Post

Flat Wahser

06-06-2022

STEP 1: Attach each of the swing lamp ("1" on the component list for swing lamp)
to the back of the headboard with 4 flat head wood screws ("A" on the hardware bag
for swing lamp) as shown below.
STEP 2: Attach each of the control box w/wires ("2"
on the component list for swing lamp) to the back of
haeadboard with 4 pan head wood screws ("B" on the
hardware bag for swing lamp) as shown below.
STEP 3: Plug the male connectors into the female
connectors as shown below.

FOR SWING LAMP ASSEMBLY:

Swing Lamp

"A"

Control Box w/Wires

"B"

Female Connector
Male Connector



Page 7/7

aspenhome 
R ASSEMBLY INSTRUCTIONS

MADE IN VIETNAM

ah

ITEM NO: I349-415-WST             King Panel HB w/ 2 Lamps
                   I349-407D-WST          King Storage FB
                   I349-406-WST             King Rails
                   I349-410-WST             Cal King Rails

FUNCTIONALITY INSTRUCTION

I349-407DCedar-lined
Storage Drawers

I349-415

I349-406

I349-410

I349-407D
Cedar-lined
Storage Drawers

I349-415

Push the touch switch to
turn on/off or adjust the
lighting on both sides.

Push the touch switch to
turn on/off or adjust the
lighting on both sides.

"D"

Swingable Metal Arm

Small Bolt
STEP 5: Insert the plugs to the socket, lift (do not push or drag)
the bed assembly to the desired location and rotate the swing
lamps to the desired angle.
Note: adjust the small bolts using the allen wrench ("D" on the
hardware bag for swing lamp) as shown right when the swingable
metal arm is too loose / tight.

09-16-2022

Screw

Handle

Handle

Reverse each handle by removing the screws
while each drawer is open and attach all handles
to the front of the drawers with screws as shown.



Swing Lamp Assembly Instructions

INSTRUCTIONS PERTAINING TO A RISK OF FIRE, ELECTRIC SHOCK, EXPOSURE TO
EXCESSIVE UV RADIATION, OR INJURY TO PERSONS

Important Safety Instructions

Lighted Lamp is HOT
WARNING - To reduce the risk of FIRE, ELECTRIC SHOCK, EXPOSURE TO EXCESSIVE
UV RADIATION, OR INJURY TO PERSONS:
1. Turn off /unplug and allow to cool before replacing LED bulb (lamp).
2. LED bulb (lamp) gets HOT quickly! Only contact switch/plug when turning on.
3. Do not touch hot LED bulb, metal grid or lampshade.

4. Do not remain in light if skin feels warm.
5. Do not look directly at lighted LED bulb (lamp).
6. Keep lamp away from materials that may burn.
7. Use only with a 6 watt (max. 60 watt) LED bulb (lamp).
8. Do not touch the LED bulb (lamp) at any time. Use a soft cloth. Oil from skin

may damage LED bulb (lamp).
9. Do not operate the portable luminaire with a missing or damaged guard, lamp

containment barrier, or UV filter.

QTY: 2 Sets/Ctn

Page 1/2 04-28-2022

Safety Warning
Designed to be used with Aspenhome Lamp only.
The manufacturer is not liable for damage or injury caused by incorrect assembly or use.
Keep the assembly instruction for future reference.

LED  Light

LED L ight

Lampshade
LED Bulb
Metal Grid

Component List/set Hardware List/set

1

Swing Lamp 1pc

2 Control Box
w/Wires   1pc

6W(2700K)
LED Bulb 1pc

4 PCS
No.
A

B

Description Sketch Quantity

 Hex Wrench  8mm
4 PCS
1 PCC

Flat Head Wood Screw  #4 x 5/8"

 Pan Head Wood Screw  #4 x 3/4"

3
 Allen Wrench 2mmD 1 PC



Caution
a. Use only insulated staples or plastic ties to secure cords;
b. Route and secure cords so that they will not be pinched or damaged when the

headboard is pushed to the wall;
c. DO NOT conceal wires where damage to insulation may go unnoticed. To

prevent fire danger, do not run cords behind walls, ceilings, soffits, or beds
where it may be inaccessible for examination. Cords should be visually
examined periodically and immediately replaced when any damage is noted.

Page 2/2

STEP 1:  Unscew 3 cap bolts attached on the lampshade by a hex wrench (C) and take out the metal
grid as the diagram shown below. Save hardware to replace the metal grid in STEP 3.

STEP 2:   Install the LED bulb in the lampshade as the diagram shown below.

STEP 3:   Insert the metal grid into the holes on lampshade and attach the metal grid to lampshade
by 3 cap bolts using a hex wrench(C) to tighten them completely.

Cap Bolt

Metal Grid

Lampshade

LED Bulb

C

Lamp w/o LED Bulb Lamp w/LED Bulb

Specification

Electricl Rating: 120V ac, 60 Hz
Lamp Rating:
           Normal use bulb is 6W(2700K) LED bulb
           Maximum 60W Incandescent Bulb
Lamp is swingable 135° by the Metal Arm.
3-Way Touch Switch Function on Brass Ring:

a. Touch the 1st time: low birghtness
b. Touch the 2nd time: middle brightness
c. Touch the 3rd time: high brightness
d. Touch the 4th time: off

Wire length: 1540mm/60.63"
Wire length: 1450mm/57.09"

Wire length:
1120mm/44.09"

Brass Ring

NOTE: When the LED bulb gets damaged, please follow up with the above step 1, 2 & 3 for the
replacement as well.

LED  Light

LED  Light

Swingable Metal Arm

135°
LAMP SWING

WALL
Headboard

Swing Lamp Assembly Instructions

C

LED  Light

135°
Wire length: 1830mm/72.05"

04-28-2022


	I349-412-402-403D AIS
	I349 BR for DK-VN AIS Model (1)
	I349 BR for DK-VN AIS Model (1)
	I349 BR for DK-VN AIS Model (1)
	I349 BR for DK-VN AIS Model (1)
	I349 BR for DK-VN AIS Model (1)
	I349 BR for DK-VN AIS Model (1)
	I349 BR for DK-VN AIS Model (1)

	I349-412-403-402 AIS
	I349 BR for DK-VN AIS Model (1)
	I349 BR for DK-VN AIS Model (1)
	I349 BR for DK-VN AIS Model (1)
	I349 BR for DK-VN AIS Model (1)
	I349 BR for DK-VN AIS Model (1)
	I349 BR for DK-VN AIS Model (1)
	I349 BR for DK-VN AIS Model (1)

	I349-415-407-406-410 AIS
	I349 BR for DK-VN AIS Model (1)
	I349 BR for DK-VN AIS Model (1)
	I349 BR for DK-VN AIS Model (1)
	I349 BR for DK-VN AIS Model (1)
	I349 BR for DK-VN AIS Model (1)
	I349 BR for DK-VN AIS Model (1)
	I349 BR for DK-VN AIS Model (1)

	I349-415-407D-406-410 AIS
	I349 BR for DK-VN AIS Model (1)
	I349 BR for DK-VN AIS Model (1)
	I349 BR for DK-VN AIS Model (1)
	I349 BR for DK-VN AIS Model (1)
	I349 BR for DK-VN AIS Model (1)
	I349 BR for DK-VN AIS Model (1)
	I349 BR for DK-VN AIS Model (1)

	I349 Swing Lamp Assembly Instructions
	I349 BR for DK-VN AIS Model (1)
	I349 BR for DK-VN AIS Model (1)


